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" Tom buys two melons from th

8 s
i'i- costs the same amount and he D:J:it,-ithE:c;l: E)nelcin
note.

Tom gets 40p change. How mych did one melon cost?

RSN

£
The total mass of th | 1 mark
€ melons was 1.95kg. O
of 900 g. What wa ; ; g. One melon had a mass
- S the mass, in grams, of the other melon?
g
1 mark
@ Find the perimeter of the shape below.
10 cm
5cm
9cm %
8 cm cm
1 mark

@ Below is a net for this triangular prism.

Calculate the area of the net.
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Dhai —“"V e - our marks
M how well you've done with Measure by addlng. up;hg S 3
I Write your score in the box

mﬂm Mixed Practice pages-
hﬂﬁ'ﬁ. then fill in the scorE_'_sh

6P Not to he nhotocopied

eet at the end of the book.
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